CodeNo.: 2042

APPLIED PHYSICS - |

Time: 2:30Hoursg| [Maximum Marks: 50
NOTES:

1) Attempt all questions.

ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.

Q1) Answer any ten parts : [10x 1=10]

i) Write dimensional formula of Young's modulus of elasticity.

ii) If error in measurement of volume of a cube is 6% then the percentage error in measurement of side of cube is:

a) 2%
b) 2.5%
c) 3%

1ii) A particle is moving with constant speed. Acceleration is possiblein it.
a) in linear motion
b) in circular motion
C) never

v) What do you understand by angular displacement?

V) Which is maximum :

a) Static friction
b) Limiting friction
c) Kinetic friction

Vi) Define radius of gyration.

vii)  On what factors does the moment of inertia of a body about an axes depend?

viii)  Kepler's second law is based on the conservation of which physical quantity?

X) Give one example each of nearly perfectly elastic and perfectly plastic material.

X) What is meant by streamlined motion?

i) What is relation between kilocallorie and joule?

xil) In isothermal process gas obeys which law?
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Answer any five parts : [5x2=10]
1) Define vector product. Give an example.
1i) Write unit of physical quantity whose dimensional formula is [ML?T2].

1ii) Describe the law of parallelogram by help of figure.

v) Define angular momentum. Give it's unit.

V) Write kepler's laws.

Vi) Explain viscosity. Write the effect of temperature on viscosity.

vi)  How much is temperature of a healthy human body in celsius? Convert it in Fahrenheit scale.

Answer any two parts : [2x5=10]

i) The time period 'T' of a simple pendulum depends upon mass 'm' of bob, length 'l' of string and gravitational
acceleration'g'. Find a formula for time period T by method of dimension.

ii) Define angular velocity. Obtain an expression between linear velocity and angular velocity relationship.

1if) Explain why mud-guards are provided to the weels of vehicles?

Answer any two parts : [2x5=10]
i) What do we mean by power and energy? Find an expression of.powet, when a body moves with velocity V by

applying a force F on it.

ii) Explain theorem of parallel axes. What is called the multiplication of moment of inertia and angular acceleration?
1ii) Explain escape velocity. Obtain an expression of escape velocity on earth's surface. Write it's value.

Answer any two parts : [2x5=10]
1) Define Young's modulus. Which is more elastic rubber or steel ? Prove.

ii) What is the phenomenon of capillarity? Obtain an expression for the rise of liquid in a capillary tube.

1ii) Explain the coefficient of linear expansion. A copper bar is 80 cm long at 15°C. What will be increase in length

when heated to 35°C? The coefficient of linear expansion for copper is 1.7x107/°C.
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